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Negative Pulse 2:1

This is a user contributed pattern and only available with the modified shapefile.

Slope rectangle, duty cycle = 2:1
Range -1000 ... 0

used in tbd.

contributed by|Alex del Bondio

(created from the shapefile using Converting Patterns in Excel)

A B E D E F G H
1 Megative Pulse 2:1
2 0
: 0 Negative Pulse 2:1
4 0
5 0 1500
B 0
1000
7 0
4 0 500
9 0
1D D D e T T T T T T e T e T T e e T T e e T e T e g TTTTT TTTTTTTTTTTTTTT T
11 0 il 4?1013151922252531343?4[’4345495255555154
12 0 -500
13 0
14 0 -1000
15 0
16 0 -1500
17 0
18 0
From:

https://avosupport.de/wiki/ - AVOSUPPORT

Permanent link: LT
https://avosupport.de/wiki/shapes/custom_pattern/negative_pulse 21?rev=1510685510 .
1

Last update: 2017/11/14 18:51 Diplomas

AVOSUPPORT - https://avosupport.de/wiki/


https://avosupport.de/wiki/shapes/pattern/convert
https://avosupport.de/wiki/_detail/shapes/custom_pattern/neg_pulse_21.png?id=shapes%3Acustom_pattern%3Anegative_pulse_21
https://avosupport.de/wiki/
https://avosupport.de/wiki/shapes/custom_pattern/negative_pulse_21?rev=1510685510

	Negative Pulse 2:1

